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3[1305[h# AWE [U6HNEKSC 4 18.14 3[1104[KE B EEIST 4 16.73
4] 1104[= BE EES ST 4 18.60 4] 1624|%Ax i R AESRC 4 17.40
5[ 1228]4E8 < B= [1001S5>&5y 4 19.10 5[ 1305[8JII _&EE UsA=KSC 4 18.07
6| 1624|/\AA & R KESRC 4 19.29 6] 2604[H%F + HMF |[s00—r*x>s 4 18.16
1801 |#H fEE |4 1=4 JAC 4 DNS 71 1228tk ERE [10015v&5 Y 4 18.86
[ =1 K 2 FE% = FOBK |
111801[&AR ==& [&lch JAC [ 15.83
2| 1702{RNI 7= RNT7y FIL 4 15.86
~ 3| 1624|mifs Y& R AZESRC 4 16.13
Z | 4le1901[MAFH  TEM R a=7EF) 4 16.35
~ | 1203|/kpk B53E HEAC 4 16.41
8 6| 1228|288 #Rr%& 100152 &5 4 16.50
7|61916|R8F RR BERE () 4 16.61
8| 2606|HO FpIE [EEFE— 4 16.67
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1 AL RARAC 4 14.86 1 g F BERE_(R) 4 15.95
2 NN FHEAC 4 17.08 2 B B HRJ 4 16.77
3 W BERE—(G 4 17.18 3 EEE KiE HRJ 4 16.80
4 BA B sSux—vrq () 4 17.26 4 b BB JXEAC 4 16.81
5 INE B HRJ 4 17.30 5 INITIRESES U5 =KSC 4 17.43
6 RPN HRJ 4 18.06 6 ik B HEAC 4 17.78
TE =X U5 EKSC 4 DNS 7 JILE X HIUEES 5T 4 1797
e E] 10015 &5 4 DNS 8 i 15 i} HixJC 4 19.49
1 Eh is UM =KSC 4 16.29 1 == F2 HRJ 4 15.76
2 B FZ° JXEAC 4 16.49 2 WH  #'a NILEESST 4 15.83
3 WxR A= SLpEES ST 4 16.60 3 2111 BE BZRE_() 4 1703
4 T =3 HRJ 4 17.05 4 Ny BT UM =KSC 4 17.15
5 S #E A1EAC 4 18.36 5 BYX EX HRJ 4 18.06
6 WE =F& BiEJC 4 18.43 6 FETHFE JXEAC 4 18.13
7 EH & EBERE_(GF 4 18.71 7 H EE =B a=7() 4 1853
3 AFE = BHRE 4 20.09 8 2E M= |FEAC 4 18.54
1 ED YN FEAC 4 15.97 1 eS¢ HRJ 4 15.77
2 BHiE ¥2 HRJ 4 16.28 2 R EEE EXSa1=—F7 4 16.38
3 MHE HE JXEAC 4 16.58 3 oH FE FERE— 4 16.43
4 Hifl fE FA)—hxry bk 4 17.24 4 A B H1EAC 4 16.47
5 = 7o HRJ 4 18.06 5 FESES JXEAC 4 16.96
6 8T FRAE R =7E 4 18.24 6 YT U5 -KSC 4 1755
7 R KA Oomh=KSC 4 18.60 7 YIS =BT 1=T7() 4 17.95
A£H EL] EBERE_G 4 DNS 8 PN i) HRJ 4 18.02
1 Fie XA FEAC 4 15.76 1 Jb)Il B (=4 JAC 4 15.80
2 A EX HRJ 4 15.80 2 RIE X FA)—=hxy bk 4 16.10
3 Fv1=47% 9¥7oF gk | 7R (24 JAC 4 15.96 3 ZH &3} EBFRE_—_GF) 4 16.24
4 JIim  I&AE RKERY—LX 4 17.34 4 =S 2T BFKSRC 4 16.48
5 X8 L HRJ 4 17.67 5 WA B18 UOonfKSC 4 17.35
6 JIE®m #EA [05HAhEKSC 4 17.79 6 T KE HRJ 4 18.19
7 E R EEE— 4 17.83 7 DS HEAC 4 18.85
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1 NO EX mEC1=7(EHE) 4 15.60 1 KH A TLF—mIA () 4 15.65
2 WA RiE EEH ST 4 15.82 2 BEA Kb HEAC 4 16.63
3 [ N HRJ 4 16.69 3 B HERE |[ZRAKRAC 4 16.65
4 R B LA RpEE 4 17.67 4 [ = HRJ 4 17.06
5 il 10015 &5 4 17.73 5 INEE R 10015 &5y 4 17.40
6 gl fintt ZEFKSRC 4 18.03 6 T BE EERE_(F) 4 17.44
7 EH BE UOonfKSC 4 18.15 7 EeKR BEA |TXEAC 4 18.08
[ K 2 R4 = FOBK |
1 AL L RAAC 4 14.86
2 NO EX R a1Z7(F) 4 15.60
~ 3 HH RAE ShF—vq () A 15.65
X [ 4 Ffe X BiEAC 4 15.76
~ 4 = I HRJ 4 15.76
8 6 eS¢ HRJ 4 16.77
7 LR EX HRJ 4 15.80
li BT 3 5 22 JAC / 15.80
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1 1]191303| Kt EF SLE—mrd () 2D 18.38 2| 1]91303|/JIl EF k- (B 2D 17.77
21 11218 <5 [HRJ 2 18.65 2| 1311|& AR #iIF 3TBFKSRC 2 18.87
3| 1605\ E =HF FA)—=hxy bk 2 19.01 3] 1203|g1@ #= HEAC 2 19.03
4161901|FEH #&H REC21=7(H) 2 19.58 4191303[:Fx v SAE—vIA () 2 19.41
5| 1311 EHE 3ZEFKSRC 2 20.49 5[ 1849|fk& A EF [VXLT7—F 2 19.41
6| 1801 /NIl BE 2124 JAC 1 20.72 6/61901[FHH Z=H FET 2 ZF7(FE) 2 20.34
711624 ] )1m  A8H0 SARERY—LZA 1 21.11 N 1121[EE #5 HRJ 2 20.39
8182702/#@8 =iV [SBH/ ST (F) 1 2285 8l 1120[h IEEI BhzxEty S 2 21.68
3 1]1819[FK =< bAHMWLEEIST 2 17.39 4] 1] 1624|2X B& £ KZFESRC 3 17.39
21 1311|KA X T EFKSRC 3 17.44 21 1201|HO % KA1 =7 3 17.75
391303 1A Fix SLEx—vrq (X)) 2 17.89 3| 1121[B B3 HRJ 3 18.17
41 2702:2% B VRV N azT 2 18.58 4 1801[FEA FE 4 |#fizhH JAC 3 18.21
5(82701{#Bikx = BlueWaveAC (£) 3 18.65 5[ 2702|=EM B3F [V wevsr+vaz7 3 18.84
6[82701 BRI HZ [BlueWaveAC (&) 3 18.82 6l 1301[&2H Eiﬁ JXEAC 3 19.66
7]82702[#8% T AN [SBHZS T (&) 3 19.32 7] 1704 %mﬁ —i BEJC 3 19.67
8l1121l=s % |ARJ 2] 2051 8| 180T[ER #fE  |&lch JAC 3| 2260
bl 1] 1200|BE :iRF EAXTCaZ=7 3 16.92 6| 1] 1121)B:& BAF HRJ 3 17.99
2| 11215550 BRI HRJ 3 16.99 2| 1301[1ER EBmk JXEAC 3 18.00
3|61901[{EEIL H= [m#>a2=-7E) 3 17.11 3| 1801 /K& 1%3% 2= JAC 3 18.03
411801 |gEA  —7¢ 2124 JAC 3 17.79 41 16241 %36 R KZFESRC 3 18.59
5| 1217|5A 28 EAAC 3 17.90 5| 1104 [fA %"’3 EEY ST 3 19.56
6] 1624| 2% FETE RAESRC 3 18.38 6] 1200[& T EZ& EXYa=7 3 19.76
T 1121 XE  TH##E [HRJ 3 19.70 7] 1624|455 RAESRC 3 21.53
7[_1[1801[EH =¥ %124 JAC 3 15.45 8
2|61916| FA &L BERE_GF 3 16.60
[ T121[ &I 3BTy HRJ 3 17.71
41112114 %A HRJ 3 18.14
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1 111203|. L& & HEAC 2 20.47 21 1 1T121[8KR  ZH HRJ 2 18.37
2| 1801|785 [EE 2124 JAC 1 21.02 2| 1120[#AK XA EhxFv S 2 18.67
3| 1121|EA & HRJ 1 21.34 3| 1301[#1H &K JXEAC 2 19.29
4013111 E4 3ZEFKSRC 1 21.37 41 1121[IUF #aZe HRJ 2 19.43
5| 1311 EHE BE |XEKSRC 1 21.42 5| 1203[#tE &#3l |HEAC 2 19.52
6| 1121|EB THh+ HRJ 1 22.01 6] 1203[1ILMA FXxER [EREAC 2 21.62
761916[582% & EBERE_(GF) 2 23.67 7| 1819|AE &Rt SLlpEES ST 2 22.71

1104| K78 |F EEEY ST 1 DNS

3| 1]|91303|HKH AE4£ SLF—vA () 2 17.21 4] 1 1121|FH B— HRJ 2 17.69
2| 1301 [# & JXEAC 2 17.27 2l 1121l@ g&q7r [HRJ 2 18.03
31311 JIEE {-BE R BFKSRC 2 18.37 3] 1203[F” & HEAC 2 18.48
4111210 FH K HRJ 2 20.00 41 1120 A Eohxxv S 2 18.69
5/ 1203|dh#  X=E HEAC 2 20.02 5[61916|=H &A BEEE—(R) 2 19.90
6] 1203|B8 = HEAC 2 20.92 6] 1203[;xH _ FH/\ HEAC 2 19.99
71 1605[/N&x 1B FA)—hEY bk 2 23.08 71 1311|EAH F— T BKSRC 2 20.85

5 1 1121|338 HBE HRJ 3 16.55 6] 1] 160b|HE EE FAY—bixvy bt 3 15.89
2| 2702[f8BFE =&KX Vv az7 3 16.66 21 1217(p[EE . $HE [ERAAC 3 17.99
3[62702[1EAK AN HASHMOTO AC() 3 16.93 3| 1301 [}kh X& JXEAC 3 18.65
411201 (hP8  #hiE WH a2=-7 3 16.95 4161916|84 %+ BZRE_(3) 3 19.03
5[ 1200|FKF EA EXCa=7 3 18.13 5111218 BEE HRJ 3 19.18
6[82701[#x FFE BlueWaveAC (&) 3 18.27 6l 1121][EF &N HRJ 3 19.51
7161916[{%= L B BERE_() 3 18.49 71 1849|F )1l 38R DALF7—bk 3 19.56

2180 mEk  [HRJ 3] __DNS _ _

7] 111301 |&&E B3} JXEAC 3 16.34 8] 1] 1203|/|gH —3F H7EAC 3 16.59
2013111 EBEXE R EFKSRC 3 16.47 2] 2706[&H &A a5l 3 16.80
312705 FE Hk NEFE 3 16.88 3le1916|Fm4 EZR EFRE—_(=) 3 16.81
41 1121|RE HF=E HRJ 3 17.72 4161916[1EFR #XK EFREE_(F) 3 18.36
5[ 1104|H$ HEEE [BEEY T T 3 18.39 5| 11218 = HRJ 3 18.52
6] 1203{#H 5 HREAC 3 19.31 6] 1301 [ILA S JREAC 3 18.81
71 1121378 A&t HRJ 3 19.46 121|fER &L HRJ 3 DNS

9] 1] 1120|/0gE &N B2hxxv 7 3 16.34 10
21 11218 #32 HRJ 3 17.14
3| 1217[#% _ Flpk KAKAC 3 17.65
411121k RAE HRJ 3 18.00
5[ 1301 [HE HFE JAXEAC 3 18.64
6| 1104\ X7 BBAA [BEEYI T T 3 18.70

61916 #P BERE_(F) 3 DNS
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Mn2171|XE &H KXARKAC—5H5A 5il 71305| A DR Obn=KSC-5B b |
217k EE HAAC—5A 5i2 71305|RE F& VBMEKSC-5B 5i 2
1 (11217 = #EE RAAC—5A 5i3 2 [71305|5%p E ) UbMEKSC-5B 51 3
2175/ &7y FAAC—5A b5i4| 10317 71305|/TH8 HEE venKSC-5B 51 4| 1.03.94
71201 @ #B3F WHS1=7B 5: 1 71624510 &R RA=E—DHBB bHil
71201 |35 H B WHY2=7B 5i2 71624|&=B %5 RR=E—HB 5i2
3 |71201 |8 = WH2=7B 5i3 4 |71624|1LO0 B4 RARK=E—5HB 5i3
71201 |5+ BiF WHY2=7B b5i 4] 1.04.86 T1624| BER WS> |RKZE—5HB 5i 4110488
]
1702|F X Fi BWN7v T b5id T1200[/MER =¥ [EBAYP21Z=Z7 511
8 1702| £ = BWN7Y I 5i2 71200\ /L M EAXC2z=F7 5i2
b | 1702(MAK #& RMF7y T 5i3 6 |71200|B& #F EAY2=F7 5i3
1702|B AR % RMF7wy I 5i 4| 10514 71200| AT EfE EARXYCaz=7 bi4|1.07.04
71618(a0 E=x FEHA B 511
71618(7 FV Y BRI |HEAESEB 5:2
7 |71618|BE &F SEAS B 5i3
716183k O HIEE SER SRR 5i 41 1.0943
71201 |5k 86y |KEC1—7A 5i 1 71618 L8 F1c | tHBamA 51
71201 (#alL /NE\E WHYa=F7A 52 71618|=% =4 YLBHEEmA 5i2
1 |71201| K81 &y WHa2=7A 5:3 2 |71618|84 UMD [HEHABEA 5i 3
71201 |fEEH B WHTa=7A 5i 4] 10045 71618|#ER  fERL FEAEEA 5i 4 1.0159
71311{FJIl SRt 3T EFKSRC 5i 1 71305| Nk B3E UBLHE=KSC-5A 51 1
T3 | EH FER |XHKSRC 5i2 71305( LA —% VBN EKSC-5A 51 2
3 (71311 )11 BEl | XEKSRC 513 4 |71306|E #&F UbAEKSC-5A 51 3
71311 | &S =1 3T EFKSRC 5i 4 1.01.81 71305| &)1l —FE vshEKSC-5A 5141 1.0217
2
716242 K B&TE [RRKE—-HA 5il 261916(3a[cf  EH & BEEE-5(3) bLHi |
8 T1624|P8E K45 RKE—-LHA 5i2 261916| =F B BERE=6(x) bi 2
5 |71624|gTH E% RBKE-5A 53 6 [261916|FrH & BERE_LHEF bi 3
T1624| AR = RBKE-5A 5: 41 1.02.66 261916| AR HEH BEmRE_LHF) bi 4| 1.0484
T1228| A BE 10015>&35> 61
71208| s #EE 10015 v&5y 5i2
7 |71228|8"0 =R 10015 v&5y 5i 3
71228|%)Il g 10015 &5~ 5i 4] 1.05.11
i = £ Ea =l o |
I = K FE£ E A ek B | &S K FE A B8
'E7i§201 & VE WEE*‘)%:?A 5 1 71618 J?% FE | SCHBmEA 5 1
1 {71201 {2 /N&E WHYa2=F7A 5 2 2 |71618|2% =8 FEHERA 5 2
71201 | KA1 RJy WHYa2=7A 5 3| 10045 71618 %*T Umd |JEEREREA 5 3| 1.01.569
71201 |(EEH  HER WHYa2=-_F7A b 4 71618|iE/m B3 FBHEEA 5 4
71311 FJIl ik ZEFKSRC 5 1 71305\ HE3x OBHEKSC-5A 5 1
3 [71311|FEH ZER |ZEHKSRC 5 2 4 |71305| LA —%== OBHMEKSC-5A 5 2
~ 31| I HBETy | RREKSRC 5 3] 1.01.81 T1305|ME & uvsmrKsc-5A 5 3| 1.0217
z 71311 | &R =12 3T BFKSRC 5 4 71305| &Il —ZE UbAEKSC-5A 5 4
[ 11624[FZK #4ft [RKZE—-HA 5 1 71217/ RE 1&A *AAC—5A 5 1
8 | b |71624|F8F =K% RBKE-5A 5 2 6 |71217|RH %E HZAAC—5A 5 2
71624|81E B4 RBKE-5A 5 3] 1.0266 71217 =5k fb2E HAAC—H5A 5 3| 1.03.17
T1624| EXR ¥ & RAFE—DHA 5 4 71217 5hEE ﬁ)‘j HZAAC—5A 5 4
71305(A B E v5MEKSC-5B b 1 261916(3a]Fh  H )= B¥mE_—5(x) bH 1
7 |71305|E FT&F v5ME=KSC-56B 5 2 8 |261916|=FH HHHF B¥mE_—LHx b 2
71305| & R ubhzKsCc-5B 5 3| 1.03.94 261916373 E# BERE_LHE b 3| 1.0484
713061748 IXF UsNn=KSC-5B 5 4 261916[;B /&R HEJH, B¥mE—5(ZR) b 4
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71801 |PalEB  HESF IZHJAC—C b5i 4| 5572 T1121(=ZF B3 HRJ-5A 5i4(1.00.11
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261916| XA E—ER[ESRBE-5AG) b 1 261916 B ¥R EFkE—58(z) b |
261916\ T4t 74 [EERE=5AG) 52 261916\ 1EBE ¥k =sBG) 5i 2
5 |261916| A H ﬁﬁ EmE—5AG) 5} 3 6 |261916|7Z% HMA s =58 b5 3
261916BH =& EEmE=5AG) bi 4] 1.03.31 261916| A HiE EEmE=58BE) b5i 4] 1.06.32
71201 |8 %% WH> 1—7A 5 1 1701 ElL BE JACRm Hil
71201 | %8 H Ka—jc WHS1=F7A 5i2 1701| ™8 #H JACRE®E 5i2
1 (71201 |lLzA ZEE [REPa1=7A 5i3 2 | 1701|luER F3+ JACRm 53
71201|FE  #% WHa=F7A 5i 4| 5741 1701 |3REF  MEA JACR®E 5i{ 4 |1.0549
71203/ iR ER3F ERAC (A) 5i 1 712288 B3R 10015 &5 5i
71203(758 RABl |[BERAC (A) 5:2 712281k RENE 10015 &3> bi?2
3 |71203|#AFe KB HEAC (A) 5:3 4 |71228|:n8kE B 10015 >v&5> 5i 3
71203|HTEH EFE HEAC (A) 5:4] 10568 71228|@EAR  TTIK 10015 v &5~ 5i 4 1.06.37
261916|2fME 21 EFEEE=6C() b 1 T1121|E35  #tBh HRJ-5B 5
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8 | 5 [71217|FA & KARKAC—5A 5 2 6 |261916|BF4T T4 |EBERBEZSAGD 5 2
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